The combined results (from both the European and US panels) of the After Brexit poll.

Question A: The UK economy is likely to be at least several percentage points smaller in 2030 than it
would have been if the country had remained in the European Union.

Question A: Unweighted Results
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Question A: Weighted Results
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Question B: The aggregate economy of the 27 countries still in the EU is likely to be at least several
percentage points smaller in 2030 than if the UK had not left.

Question B: Unweighted Results
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Question B: Weighted Results
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